no pattern exists between
the x- and y-coordinates

y

P(green and yellow)

P(green) * P(yellow) = g'% = %

w

: P(A)=~
. °
¢ unlikely likely
° o ° | l
o ¢ o
| |
0 T 1
impossible 2 certain
What is the probability of e
getting a red jelly bean on
first pick and then without

replacing it, getting a
green jelly bean on the
second pick?

58

P(red) * P(green after red) =
4 2 8 2

1211 132 33
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If there are m ways for one
event to occur and n ways for
a second event to occur, then
there are m - n ways for both

events to occur.

Joe has two pairs of pants (blue and tan). He
also has three shirts (red, green and white). List
the possible outfits that Joe can make.

PANTS SHIRTS POSSIBLE OUTCOMES
red — blue pants with red shirt

blue<green — blue pants with green shirt
white — blue pants with white shirt
red — tan pants with red shirt

tan< green — tan pants with green shirt
white — tan pants with white shirt

2 - 3 or 6 possible outcomes

a measure of central tendency

2,3,4,7

Balance Point

2 3

1

6

W =
®4

11 1
Il | | L Ll
1 2

o
-

4 = S,
N

0 1

Numerical Average

2+3+4+7 16
j— :@
4 4

a measure of central tendency

6,7,8,9, 9
|
8 = median

5,6,8,9, 11,12

S

1

8.5 = median
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a measure of central tendency

Data Sets Mode
2,3,3,3,5 5,9 10 3
5.2,5.4,5.5, 5.6, none
5.8,5.9,6.0
1,1,2,5,6,7,7,9,
11,12 1,7
/f
bimodal

Data set
2! 3.32 37 5 58 9% 102 151 20
2 4 8 2 6 5 2

1,1
20—25—175

Range = 17%

Pounds of Newspapers Recycled by
Lexington Middle School Students

g &8 & 8

Pounds

3
3
2
2
1
1

111l

Mrs. Brown Mr. Jones  Mr. Smith Ms. Scott
Class

Value of Sarah's Car
$30,000

$25,000
$20,000
$15,000

Value

$10,000
$5,000

$0
2006 2007 2008 2009 2010 2011 2012

Year
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Math Test Scores
56, 65, 98, 82, 64, 71, 78, 86, 95, 91,
59, 70, 80, 92, 76, 82, 85, 91, 92, 73

STEM | LEAF
69

45
01368
02256
112258

O ~NH”O,

Key: 5|6 means 56

Favorite Ice Cream

Butter Chocqlate
Chip
Pecan .
1115~ 7% ) 1/30~3%  Chocolate
P 115 = 20%

Strawberry
1/5=20%

Vanilla
12=50%

Exam Scores of Students

45

fd
in

Frequency

n

08 10-1% 20-29 3039 40-49 50-59 60-69 70-79 B80-89 8009
Score

illustrates the relationship
between two sets of data.
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y-coordinates increase as
X-coordinates increase

y

y-coordinates decrease as
X-coordinates increase

y

y-coordinates remain about
the same as x-coordinates
Increase
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